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QUESTION 1

Paraben Lockdown device uses which operating system to write hard drive data? 

A. Mac OS 

B. Red Hat 

C. Unix 

D. Windows 

Correct Answer: D 

 

QUESTION 2

Jim performed a vulnerability analysis on his network and found no potential problems. He runs another utility that
executes exploits against his system to verify the results of the vulnerability test. The second utility executes five known
exploits against his network in which the vulnerability analysis said were not exploitable. What kind of results did Jim
receive from his vulnerability analysis? 

A. False negatives 

B. False positives 

C. True negatives 

D. True positives 

Correct Answer: A 

 

QUESTION 3

Which legal document allows law enforcement to search an office, place of business, or other locale for evidence
relating to an alleged crime? 

A. bench warrant 

B. wire tap 

C. subpoena 

D. search warrant 

Correct Answer: D 

 

QUESTION 4

An Expert witness give an opinion if: 
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A. The Opinion, inferences or conclusions depend on special knowledge, skill or training not within the ordinary
experience of lay jurors 

B. To define the issues of the case for determination by the finder of fact 

C. To stimulate discussion between the consulting expert and the expert witness 

D. To deter the witness form expanding the scope of his or her investigation beyond the requirements of the case 

Correct Answer: A 

 

QUESTION 5

The offset in a hexadecimal code is: 

A. The last byte after the colon 

B. The 0x at the beginning of the code 

C. The 0x at the end of the code 

D. The first byte after the colon 

Correct Answer: B 
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